[ Efficiency vs vertpos |

= 0.03 : : :
L.oog—----------f ------------ e s
BUE S MR e e
R0loy/ ERPRRPRN SRR oo e
O0Bf- -+ eeeieneenneeees e e
0005 -++-eesiereeeenne R RRIE e
0.004F -+ e S S
0.003f++++eeerireeneeenne S A
0.002F e+ e S S
0.001F+++reeerireeneeene S A

EHICIRACYYS ¥

Ratio

1072 107 1

10 0
TP vertr (cr%)

2

—=— DQM_CKF_TTbar

Efficiend —— DQM_mKFit_TTbar
ICIeNd __,__ pQM_mkFit_TTbar-newTr2

-30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.0

R R R R N B N>
Sim. PV z (cm)




	Contents
	Page 1


